MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 3152590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

Worthington Armstrong Venture (WAVE)
101 Lindenwood Drive Suite 350
Malvern, PA 19355

ScopE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed and accepted by Miami-Dade
County RER-Product Control Section to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform
in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. RER reserves the right
to revoke this acceptance if it is determined by Miami-Dade County Product Control Section that this product
or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: EIFS & STUCCO Ceiling System — L.M.I.

APPROVAL DOCUMENT: Drawing No. WAV 004 Rev E, titled “EIFS and STUCCO Ceiling System
LMI”, sheets 1 through 6 of 6, dated 04/28/2009 and last revised on 02/21/2022, prepared by PTC Product
Design Group, LLC, signed and sealed by Robert J. Amoruso, P.E., bearing the Miami-Dade County Product
Control Renewal stamp with the Notice of Acceptance number and expiration date by the Miami-Dade
County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

L ABELING: Each unit or component shall bear a permanent label (grid piece at not more than 4’ o.c.) with
manufacturer’s name or logo, Aberdeen, MD and following statement: "Miami-Dade County Product Control
Approved" or on packaging per FBC 1709.10.3. Units or components include containers and boards.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises and renews NOA # 20-1015.02 and consists of this page 1 and evidence pages E-1, E-2,
E-3 and E-4, as well as approval document mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No. 22-0309.03

Expiration Date: October 7, 2026
Approval Date: April 07, 2022
Page 1

MIAMI-DADE COUNTY 2 L@? b D
APPROVED


http://www.miamidade.gov/economy

Worthington Armstrong Venture (WAVE)

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under previous NOA’s

A. DRAWINGS “Submitted under NOA #14-1204.05”
1. Drawing No. WAV004, titled “EIFS and STUCCO Ceiling System LMI”, sheets 1
through 6 of 6, dated 04/28/2009, with revision C dated 11/06/2014, prepared by PTC
Product Design Group, LLC, signed and sealed by Robert J. Amoruso, P.E.

B. TESTS “Submitted under NOA #09-0512.02”
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Stucco Ceiling System,
prepared by Architectural Testing, Inc., Test Report No. 81352.01-109-18, dated
01/12/2009, with Revision 1 dated 08/06/2009, signed and sealed by Michael D.
Stremmel, P.E.
2. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of EFIS Ceiling System,
prepared by Architectural Testing, Inc., Test Report No. 81352.02-109-18, dated
Stremmel, P.E.

C. CALCULATIONS “Submitted under NOA #09-0512.02”
1. Unbraced length analysis of steel stud, prepared by PTC, LLC, dated 09/08/2009,
signed and sealed by Robert J. Amoruso, P.E.
2. Anchor calculations of ceiling systems, prepared by PTC, LLC, dated 04/15/2009,
signed and sealed by Paul E. Winter, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

lgbas |- £ hanl,

Carlos M. Utrera, P.E.

Product Control Unit Supervisor
NOA No. 22-0309.03

Expiration Date: October 7, 2026
Approval Date: April 07, 2022



Worthington Armstrong Venture (WAVE)

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS “Submitted under NOA #14-1204.05”
1. Statement letter of code conformance to the FBC 5™ Edition (2014) and of no financial
interest, issued by PTC Product Design Group, LLC, dated 11/06/2014, signed and sealed by
Robert J. Amoruso, P.E.

G. OTHERS
1. Notice of Acceptance No. 12-0314.04, issued to Worthington Armstrong Venture (WAVE)
for their EIFS & STUCCO Ceiling System — L.M.I, approved on 06/07/2012 and expiring on
10/07/2014.

2. Evidence submitted under NOA #18-1120.11

A. DRAWINGS
1. Drawing No. WAV004, titled “EIFS and STUCCO Ceiling System LMI”, sheets 1 through 6
of 6, dated 04/28/2009, with revision D dated 11/01/2018, prepared by PTC Product Design
Group, LLC, signed and sealed by Robert J. Amoruso, P.E.

B. TESTS
1. None

C. CALCULATIONS
1. None

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None

F. STATEMENTS

1. Statement letter of code conformance to the FBC 6 Edition (2017), issued by PTC Product
Design Group, LLC, dated 11/01/2018, signed and sealed by Robert J. Amoruso, P.E.

lgbas |- [ han,

Ishaq I. Chanda, P.E.

Product Control Unit Supervisor
NOA No. 22-0309.03

Expiration Date: October 7, 2026
Approval Date: April 07, 2022



Worthington Armstrong Venture (WAVE)

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. Evidence submitted under previous approval

A. DRAWINGS

1. None.
B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the FBC 7™ Edition (2020) and of no financial
interest, issued by PTC Product Design Group, LLC, dated 03/22/2021, signed and
sealed by Robert J. Amoruso, P.E.
2. Statement letter confirming verification testing contracted with ATI/Intertek, dated
08/16/2019, signed by Timothy J. McGill, Product Testing Manager.

lgbas |- L hande,

Ishaq I. Chanda, P.E.

Product Control Unit Supervisor
NOA No. 22-0309.03

Expiration Date: October 7, 2026
Approval Date: April 07, 2022



Worthington Armstrong Venture (WAVE)

G.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

New evidence submitted

DRAWINGS

1. Drawing No. WAV004 Rev E, titled “EIFS and STUCCO Ceiling System LMI”,
sheets 1 through 6 of 6, dated 04/28/2009 and last revised on 02/21/2022, prepared by
PTC Product Design Group, LLC, signed and sealed by Robert J. Amoruso, P.E.
(No DWG changes except, title block)

TESTS
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Stucco Ceiling System, prepared
by Intertek Testing, Inc., Test Report No. M9873.01-109-18, dated 01/20/2022, signed and
sealed by Vinu Abraham, P.E.

CALCULATIONS (submitted under previous approval)

1. None.
QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS

1. None.
STATEMENTS
1. Statement letter of code conformance to the FBC 7™ Edition (2020) and request for

renewal with no change, issued by PTC Product Design Group, LLC, dated
02/23/2022, signed and sealed by Robert J. Amoruso, P.E.

2. Statement letter of code conformance to the FBC 7% Edition (2020) and of no financial
interest, issued by PTC Product Design Group, LLC, dated 03/22/2021, signed and
sealed by Robert J. Amoruso, P.E (submitted under # 20-1015.02)

OTHER
1. This NOA revises and renews NOA # 20-1015.02, expiring 10/07/2026.
2. e-mail test proposal, dated08/12/21, issued by RER.

| QL\<7 b L hande

Ishaq I. Chanda, P.E.

Product Control Unit Supervisor
NOA No. 22-0309.03

Expiration Date: October 7, 2026
Approval Date: April 07, 2022



117.000”
MAX. SPAN

4.500" MAX.

FROM END o ‘3%308%\;.* SEE NOTE~  (19)
MAIN BEAM ™~ G{ @ 1 SHT. 6

SPACING (TYP.)

TYP. =
(TYP.) | / " _(5)sEE NoTE
X X I = \ T.
i @\ B — _ _ - = ——1E] 12" MAX. FROM END 5 sAl 2
U—SHAPED STEEL STUDS 2 =
! ;; ;c 77722
L = -@\- = = = — U__SJAPED SECTION A—A
B,J,K STEEL STUDS
HANGE ”WlRE L,M,N<ﬂ 0
MAX. 30" O.C. = = == = = | — = liw MA);P,iOING ©
SPACING B,J,K_g
I L,M,N i 5
117.000" = = = = = /
MAX. SPAN [ | @\
‘ | LT /@/ /EE. NOTE
16" MAX. 1/ = i ",ﬁ ) 1 SHT. 5
CROSS BEAM Z C’(’:'F‘ :l
i ! =
SPACING (TYP. . @
( ) 'Eg = = = e SEE NOTE
/@ 5 SHT. 2
@\ = = == St NOTE@\W // //
| N SHT. SECTION B—B SEE NOTE '
4.500" MAX. SEE NOTE 1 SHT. 2
FROM END =ps = = = = == = = 8 SHT. 2
CROSS BEAM 1 T T i
(TYP.) Wy,
{ = = = = = = = = W m&zs g%,
EIFS LAYOUT
LARGE MISSILE IMPACT 3 F g WAVE
RESISTANT :skggulci: l\?vi':tEIY:EIErida @ %»@ 101 LINDENWOOD DR MALVERN, PA 19355
O /el % 17 X HES CRING S%%%%‘Ef LMl
DESIGN PRESSURE CAPACITY Expiration Date 10/07/2026 E | Updated to 7TH EDITION FBC (2020) |o/23/22 | RUA Robert . Amoruso, p,Ez_ Pneiiazo Bv: DW
- e D | Updated to 6TH EDITION FBC (2017) i1/1/18 | RUA Florida P. £ No. 4975 e a— :
+ 75'0/ 75.0 PSF MAXIMUM z{’ ._‘:A d7 [Pﬁd : “Control c Uzdoted to 5TH EDITION FBC (2014) |i1/6/14 | RIA Fre P Pd.o.tszx 5920375 P LLC V ol 4 & “ENTS
lami-Dade Froduct Contro Longwood, Florida 32752 REV: £
REV DESCRIPTION DATE BY B FBPE Certification of Authorization NO, 25935 § Phone 321.690.1788 Fax 321.690.1789



ic045
New Stamp


~ -~ - ~
7~
/ N
DETAIL D Re complying with the Florida /
Buildi Cod
it NOA-No. . 22-0309.03
Expiration Date10/07/2026 P \
By | ghas l. L hande A \
Miami-Dade Product Control 2 &
S =
/ Q 2 7
l . 7 \
| ' N |
\ & Alls |
\ |

7
\\ //
~~ -~
T o
NOTES: | ® O scar s @

1) #6 X BUGLE HEAD DRYWALL SCREW AND DETAIL D

1-1/4" FLAT GALVANIZED WASHER IS SPACED 8” ON _ SECURED 8” 0.C. W WOOD

CENTER MAX. THROUGH THE AREA OF THE DENSGLASS AND (O : N T o WA STRUCTUéE STEEL

INTO THE MAIN RUNNERS, CROSS TEES & PERIMETER SIS S I )

CHANNEL. N W CONCRETE
2) HANGER WIRE MUST BE SECURED AT EACH END WITH A — N !

MIN. OF (3) TURNS IN 3" PER ASTM C636. W ////W
3) HANGER WIRE TO BE SPACED A MAXIMUM OF 30" O.C. (L

4) VERTICAL BRACING TO BE INSTALLED ON MAIN BEAMS
AT A MAXIMUM OF 30” O.C.

5) 5/8” FRX, FIRE RESISTANT, EXTERIOR PLYWOOD TO BE
INSTALLED FROM THE UNDERSIDE AGAINST CROSS TEES WITH
ITEM #5

6) THIS PRODUCT IS DESIGNED TO COMPLY WITH THE HIGH

h""‘ec.

WAVE

VELOCITY HURRICANE ZONE (HVHZ) OF THE CURRENT EDITION
OF THE FLORIDA BUILDING CODE (FBC) AT THE DESIGN A gt 101 LINDENWOOD DR MALVERN, PA 19355
PRESSURES STATED HEREIN. SIAAL o EIFS SYSTEN, LM

7) CONSTRUCTION ADHESIVE APPLIED BETWEEN PLYWOOD AND T g o 7 oo o0 ©2020) B[] e T — e ™04 /28,/09
DENSGLASS. D | Updated to 6TH EDITION FBC (2017) |i1/1/18 | RIA Florida P. E. No. 49752 A, AR A | TG

8) #8 SMS IS TO BE SPACED 8" 0.C. THROUGH PLYWOOD ALONG [ updted to ot Eomon oo Gore) hwore[m] @ P, Box 520775 ) o 4 = NTS WAV004
MAIN RUNNER CROSS TEES AND PERIMETER CHANNEL. — — PALEAY  ongvosa, Pl 5272l S, o o



ic045
New Stamp


~
) 117.000 _ (9)
. MAX. SPAN
4#2%% E’;"@g- 36.000” MAX.
AOM e —= |~ ——  MAIN BEAM |-
(e SPACING (TYP.)
SEE NOTE
I i — - - — —| 1 SHT. 4
B,F,J
SO N . ; | —_—
T B - = = ===  U—SHAPED T SEE NOTE
2 @ £l £ BFY STEEL STUDS T SECTION E—E \@z SHT. 6
HANGER WIRE N I e MAX. 30" 0.C. C’D/SEE T
MAX. 30" 0.C. |t —— e = ==—= SPACING (TYP.) A A
SPACING 7 2 ‘ 2 SHT. A © (36) SEE NOTE
‘ i 1 SHT. 5
117.000” S “‘%' = = = =15 & &G
MAX. SPAN | §:> i i iﬁ j -
13.500" MAX. [Tl - T — SEE NOTE
SPACING (TYP.) _ | L — | SEE NOTE
: ] © © 5 SHT. 4

4.500" MAX.

FROM END

(TYP.)

I‘CROSS BEAM

s

%

12" MAX. FROM END 11
= CROSS BEAM (TYP.) SEE NOTE

f

STUCCO LAYOUT

DESIGN PRESSURE CAPACITY
+75.0/-75.0 PSF MAXIMUM

PRODUCT RENEWED

as complying with the Florida

Building Code
NOA-No. 22-0309.03
Expiration Date10/07/2026

By ‘ 9(’\4‘7 f Kéfch,

Miami-Dade Product Control

1

—

Z
Z.
Z

2 SHT. 6

SEE NOTE :
@\i\,\,\\,\%,\,\,\,\,\\\,\,\,\,\,\,\,\,\

SECTION F—F

WAVE

101 LINDENWOOD DR MALVERN, PA 19355

)

e
¢ e

i
aaaaaaaa TITLE:

ELEVATION & CROSS SECTIONS
1177 X 117" STUCCO CEILING SYSTEM, LMI

E A - DRN: DATE:

- Updated to 7TH EDITION FBC (2020) [2/23/22 |RJ gzt:;,: g %m%:soéggégé PREPARED BY: SMC 04 /2 8 /09
Updated to 6TH EDITION FBC (2017) fi1/1/18 | RIA PTC Product Design_ Group. LLG r——-' SiE NTS ST WAVOOA
Updated to 5TH EDITION FBC (2014) Ji1/6/14 | RJA P.0. Box 520775 L

Longwood, Florida 32752 REV: SHEET:
REV DESCRIPTION DATE 8 B FBPE Certification of Authorization NO. 25935 f| Phone 321.690.1788 Fax 321.690.1789l E 3 OF 6



ic045
New Stamp


DETAIL H] | _am

=

-

Y

N,

A

AN
S o

y

4
7

N
3
R\ v 4
> o)

4

&

R
3

\\

&

\

STUCCO

NOTES:
1) ITEM #8 THE #8 X 1 1/2" SHEET METAL SCREW IS SPACED

PRODUCT RENEWED

as complying with the Florida

Building Code
22-0309.03

NOA-No.
Expiration Date10/07/2026

By \QL@? [ lé‘?n()a
Miami-Dade Product Control

aGN

8” ON CENTER MAX. THROUGH THE RIBBED SHEET LATH AND
INTO THE MAIN RUNNERS, CROSS TEES & PERIMETER
CHANNEL.

=3

— 3

s R s | — M a3 3

] 3 ] .1 8

i AN

2) HANGER WIRE MUST BE SECURED AT EACH END WITH A

AN
b

MIN. OF (3) TURNS IN 3" PER ASTM C636.
3) HANGER WIRE TO BE SPACED A MAXIMUM OF 30" O.C.
4) VERTICAL BRACING TO BE INSTALLED ON MAIN BEAMS AT A

3

Z A 7 s 7 7L L L L

L L.l L.l 2 Z

MAXIMUM OF 30" O.C.
5) 5/8” FRX, FIRE RESISTANT, EXTERIOR PLYWOOD INSTALLED

FROM UNDERSIDE AGAINST CROSS TEES WITH ITEM #8. FELT
PAPER SECURED TO UNDERSIDE OF PLYWOOD WITH STAPLES.

6) THIS PRODUCT IS DESIGNED TO COMPLY WITH THE HIGH
VELOCITY HURRICANE ZONE (HVHZ) OF THE CURRENT EDITION

OF THE FLORIDA BUILDING CODE (FBC) AT THE DESIGN

AN °°u{ aheSs TLE:
PRESSURES STATED HEREIN. %;&%.%Qg;mg%@@ STUCCO SYSTEM, LMI
2 FONAL B DETAILS
3 Updated to 7TH EDITION FBC (2020) [2/23/22 | RUA Robte i3s kS so, P.E. PREPARED BY: PN SMC PATEN4 /2 8 /09
Florida P. E. No. 49752 AR A Y
D Updated to 8TH EDITION FBC (2017) |11/1/18 | RIA PTC Product Design Group, LLC r' CALE: NTS DWG. NO: WA\/OO4
C Updated to STH EDITION FBC (2014) |li1/6/14 | RIA P.0. Box 520775 ‘
Longwood, Florida 32752 EV: £ SHEET: 4 OF 6
REV DESCRIPTION DATE BY FBPE Certification of Authorization NO. 25935 [§ Phone 321.690.1788 Fax 321.590.1789[

8.00” (Typ)

SECTION G—-G

\

B QR

L
ééSCALE: 8x

B A1 AN

DETAIL H

SECURED 8” 0.C. W/ G3W00D

s

—®
-0 @

TO MAIN_STRUCTURE @3 STEEL

26 CONCRETE

WAVE

101 LINDENWOOD DR MALVERN, PA 19355



ic045
New Stamp


SEE NOTE 1a
SEE NOTE 1a SEE NOTE 1a SHT. 5 SEE NOTE 1a
SHT. 5 SHT. 5 SHT. 5
1.1/4" MIN. " " " MIN.
gfﬁ S 2 _ EMB/EAI')ME‘NJ' 15,}3/5';,,,?,‘#' SEE NOTE 2¢ EJ{E‘EM&* . 1EJB/E%M3|#
Mg 1s P7A/a ‘ SEE NOTE 2b — e 17/8 ® 1 7/8" SEE NOTE 2d @1 7/8"
. CING SHT, 5 > MIN. SPACING ‘ o MIN. SPACING ‘ 34) SHT. 5 o MIN. SPACING *
O Q b 2" MIN, o Q — " J 3/4" MIN. % Q — »
9 0 @Q\ 9 0 EMBEDMENT \V \Q \ * g 0 1!-:%::&45':4!? ’ N 8 EMBE?MENT g \Q d 0 Q 0 15»%&39.45’4‘?’
CONCRETE MIN ? CONCRETE MIN& _ ? CONCRzEc-Jrgo s f CONCRETE MtN.\—x _ f
2000 PSi 2000 PSi BY OTHERS SEE NOTE 4 2000 PSI
BY OTHERS SEE NOTE 4 BY OTHERS SEE NOTE 4 SEE NOTE 2 & SHT. 2 & 4 BY OTHERS gs& NZOTGE Z
SEE NOTE 2 & /® SHT. 2 & 4 SEE NOTE 2 & /® ST 2 & 4 3 SHT. 2 & 4 SEE NOTE 2 & /® '
3 SHT. 2 & 4 3 SHT. 2 & 4 3 SHT. 2 & 4
9
St T SECTION L hud
SECTION J SECTION K SECTION M
B8 ¥ ™
ANCHOR NOTES: z §§$ NSOTE e gg&; r\gOTE 2f
1) THE VERTICAL BRACE IS SECURED TO THE MAIN — MIN THICKNESS TRUSs B OTvERs
BEAM AT THE BOTTOM WITH (4) ITEM #36 & ) % \
TO THE STRUCTURE AT THE TOP AS FOLLOWS: /1 .
a.) CONCRETE SUBSTRATE WITH (3) ITEM #26, STEEL FRAMING / 11420 N
3/16" DIA. RAWL TAPPER, W/1 1/4" MINIMUM EMBEDMENT. BY OTHERS P_(S6.55)
TEM #17. N
b.) WOOD FRAMING SUBSTRATE WITH (3) ITEM #23, #8 WOOD ok 1%
SCREW, W/1 1/2" MINIMUM EMBEDMENT. SEE NOTE 2
c.) STEEL FRAMING SUBSTRATE WITH (3) ITEM #23, #8 SHEET & 3 SHT. |~ SEE NOTE 16
METAL SCREW, W/MINIMUM 3 PITCHES OF THREAD BEYOND 3 SHT. 5
STEEL FRAMING. SECTION N N 2 s § SEE NOTE 4
2) THE HANGER WIRE IS SECURED TO THE MAIN A SHT. 2 & 4
BEAM AT THE BOTTOM WITH (1) [TEM #2 & #16
TO THE STRUCTURE AT THE TOP AS FOLLOWS: SEE NOTE 1a
a.) CONCRETE SUBSTRATE WITH (1) ITEM #29, SEE NOTE 2e 1 1/4 MIN. PRODUCT RENEWED
1/4” DIA. HILTI KWIKBOLT Ill, W/2" MINIMUM EMBEDMENT. S 5 — e Building Gode o
b.) CONCRETE SUBSTRATE WITH (1) ITEM #30, MIN. SPACING ‘ NOA-No. 22-0309.03
1/4” DIA. HILTI HCKB EYEBOLT, W/1 7/16" MINIMUM > a B 2 /8" N Expiration Date 10/07/2026
EMBEDMENT. @g\ 9 EMBEDMENT b
c.) CONCRETE SUBSTRATE WITH (1) ITEM #31, N 0 0 e d'?e B Eort—
3/8” DIA. HILTI HDI—=P DROP—IN, W/ 3/4” MINIMUM | f
EMBEDMENT. CONCRETE M, LT
A ’i;,
d.) CONCRETE SUBSTRATE WITH (1) ITEM #32, BY OTHERS SEE NOTE 4 ¥ AAMES
1/4" DIA. HILTI HHDCA EYEBOLT, W/1 7/16” MINIMUM SEE NOTE 2 & SHT. 2 & 4
EMBEDMENT. 3 SHT. 2 & 4
e.) CONCRETE SUBSTRATE WITH (1) ITEM #33,
1/4” DIA. ITW/RED HEAD TRUBOLT, W/2 1/8” MINIMUM |~}
EMBEDMENT. SECTION P WAVE
f.) WOOD FRAMING SUBSTRATE WITH (1) ITEM #27, #10 WOOD
EYEBOLT, W/1 1/2” MINIMUM EMBEDMENT. 101 LINDENWOOD DR MALVERN, PA 19355
g.) STEEL FRAMING SUBSTRATE WITH (1) ITEM #28, #10 SHEET TITLE: ELEVATION & CROSS SECTIONS
METAL EYEBOLT, W/MINIMUM 3 PITCHES OF THREAD BEYOND STUCCO CFEILING SYSTEM INSTALLATION DETAILS
STEEL FRAMING. E Updated to 7TH EDITION FBC (2022) |o/23/22 | RJA Robert J. Amoruso, P.E. PREPARED BY: PRE"SMC DATE N 4 /28 /09
D | Updated to 6TH EDMON FBC (2017) [u/1/1e |RuAR . Florida s .:: G;‘:stz LLC Ff— SAE e
¢ | Updated to 5TH EDITION FBC (2014) |11/e/14 [ RUA | PO Box 520775 & _ NTS . WAVO04
REV DESCRIPTION IDATE s Beaee Ceﬁﬁﬁ‘:t?fn of A?,zm?-izqtion NO. 259835 J} Phone 321.690.1788 Fax 321.690.1789' " E "5 0F 6



ic045
New Stamp


ITEM| QTY | DESCRIPTION

1| A/R|TRHA 21 GA, 1-5/8"1-1/4" DRYWALL TRACK/ 33 KS|

o | A/R| HDBY0B 6-90 MAN BEAM

3 | A/R | XL7936 6-90 CROSS TEE

4 A/R DEITRICH CSJ, 2—1/2" DEPTH, 18 GA STEEL STD,

33 KSI, 9° MAX. LENGTH — SEE NOTE 3

5 | A/R1#8 X 1" LG. MODIFIED TRUSS HEAD SHEET METAL SCREW

6 | A/R| 3/8" RBBED SHEET LATH, 3.4 (BS/SQYD, AS PER ASTM C-847
7 | A/R] STUCCO BASED COAT

8 | A/R]| 8 X 1-1/2" 6. MODIFIED TRUSS HEAD SHEET METAL SCREW
9 | A/R|#9 Go. HDG. HANGER WIRE

10 | A/R | 5/8" FRX FIRE RESISTANT EXTERIOR PLYWOOD - 4 X 8 SHEETS
11 | A/RTSIUCCO FINSH COAT

12 | A/R | BULDING STRUCTURE OR 2 BY WOOD BUCK BY OTHERS

13 | A/R | WATER PROOF FELT VAPOR BARRIER

14 | A/R|QSUTC QS UP TIGHT CLIP

15 | A/R]| 9 X 1-1/2" WOODFAST DOUBLE LEAD THREAD 1/4" HEX WASHER HEAD
16 | A/R]| SP-135 6-90 MAN BEAM

17 | A/REFIS FINSH COAT

18 | A/R|#6 X 1-1/4" L6 BUGLE HEAD DRYWALL SCREW

19 | A/R]|1/2" EXTERIOR SHEET DENSGLASS GOLD, GEORGIA PACIFIC

20 | A/R| PRMER ADHESVE MESH + EIFS FINISH

21 | A/R] CROSS TEE BEAM CLP

22 | A/R| H0 1-LAG 150WS WOOD SCREW /F10 1-LAG 750SD SELF TAP W/EVELET
23 | A/R|#8 X 1" LG. SHEET METAL SCREW

94 | A/R|1=1/# FLAT GALVANIZED WASHER

25 | A/R | CONSTRUCTION ADHESIVE

26 | A/R | 3/16" DIAMETER RANL TAPPER W/1 1/4" MIN. EMBEDMENT

27 | A/R | 10 I-LAG 150HS WOOD SCREW W/EYELET

28 | A/R | 10 1-AG 7505D SELF DRILLNG & TAPPING SCREW W/EVELET
29 | A/R | 1/4" DIA. HLTI KWK BOLT Il ANCHOR

30 | A/R | 1/4 DIk HLT HCKB CEILING HANGER W/EYELET

31 | A/R{ 3/8" DA HLTI HDI-P DROP-IN ANCHOR

32 | A/R | 1/4 - 20 THREADED EYELET.

33 | A/R 3/8" - 16 THREADED EVELET.

34 | A/R| 1/4 DA HLTI HHDCA CEILING HANGER W/EYELET

35 | A/R| 1/4 DA W/ RED HEAD TRUBOLT ANCHOR

36 | A/R| §8 X 17 TRUSS HEAD SELF DRILING SCREW

37 | A/R| #66 3/4" CASE BEAD

DRYWALL TRACK/ CROSS TEE BEAM CROSS TEE BEAM CLIP
PERIMETER CHANNEL TYP. WALL THK, .018 SRt
TRHA 21 GAUGE EIFS & STUCCO
4 \_/\—\W
0.690” O @[@
O
1.250" i
.018”
@ 466 3/4” CASE BEAD
1.517" TYP. WALL THK. 21 GAUGE
036" | )
1.625" I 3.125
- 7 0.750"
i 1.500" {

NOTES:

1) EFIS COMPOSITION:
DRYVIT GENESIS BASE COAT MIXED WITH CEMENT 1/8” THICK BY 9" WIDE
JOINTS ONLY, FOLLOWED BY DRYVIT BRAND #20 FIBERGLASS MESH WHICH QSUTC UP TIGHT CLIP
IS WORKED INTO THE BASE MIX. ANOTHER 3/16" THICK COAT OF MIX IS
TROWELED OVER THE ENTIRE SURFACE. A CONTINUOUS LAYER OF MESH ~————— 442"
IS THEN WORKED INTO THE WET BASE MIX WITH A SECOND LAYER OF
BASE MIX COVERING THE MESH. THE BASE MIX IS ALLOWED TO DRY
OVERNIGHT AND PRIOR TO A FINISH COAT OF DRYVIT BRAND MIX
QUARTZPUTZ DPR BEING APPLIED AND TROWELED TO PRODUCE A 1/8"
TO 3/16" FINISH COAT. 1.42”

2) A STUCCO MIX WITH A FINISH THICKNESS OF 3/4" IS TROWELED INTO '
THE RIBBED LATH IN THREE COATS. THE FIRST COAT IS ALLOWED TO SET,
THEN A SECOND LAYER OF MIX IS TROWELED ON SIDE TO SIDE TO THE
STOPS ON ALL SIDES. THE FINISH COAT MIX OF IVORY FINISH LIME,
WHITE CEMENT AND WHITE SILICA SAND IS WORKED INTO THE STUCCO MIX
AND TROWELED ON IN AN 1/8” TO 3/16" THICK FINISH COAT.

PER MANUFACTURER SPECIFICATIONS IS APPLIED TO THE DENSGLASS GOLD

2A) STUCCO MIX CONSIST OF: 22 SHOVELS OF C—144 SAND, 2 1/2 GALLONS
"THORO” BRAND ACRYL 60 ACRYLIC ADDITIVE, 1 PACK CONTROL "X” I
CHOPPED FIBERS, 1 BAG (50 LBS.) TYPE "S” LIME, 1 BAG (94 LBS.) PRODUGT RENEWED
TYPE "1” PORTLAND CEMENT. | as complying with the Florida
3) EQUIVALENT STEEL STUD MEETING THE R T NOA-No. 25_0309.03
FOLLOWING ACCEPTABLE:  [re=ior=iiitew " Expiration Date10/07/2026

A) SSMA NO. 250S162-43

B) YIELD STRENGTH 33 KSI MINIMUM.
¢) 2-1/2" DEPTH

D) 1-5/8" FLANGE

By |St=g [ Lhank
Miami-Dade Product Control

WAVE

E) 1/2" UP
F) 18 GA. . 101 LINDENWOOD DR MALVERN, PA 19355
G) MAX. LENGTH o' RIRERATRECN Ko TE DETAILS AND BILL OF MATERIALS
1177 X 117" CEILING SYSTEM INSTALLATION
£ Updated to 7TH EDITION FBC (2020) i/23/22 | RUA Robe PREPARED BY: DRN: DATE:
Updated to 6TH EDITION FBC (2017) |uiyte |raa] o Floride B £ Mo 43782 F_- CALE:SMC W, (304 /28/09
c Updated to 5TH EDITION FBC (2014) p1/6/14 | RIA P.0. Box 520775 ’ ' L NTS WAVO04
Longwood, Florida 32752 REV: SHEET:
REV DESCRIPTION DATE BY FBPE Certification of Authorization NO, 25935 [§ Phone 321.690.1788 Fax 321‘590.1789' E 6 OF 6



ic045
New Stamp


	22030903 WAVE
	11805 SW 26 Street, Room 208

	22030903 drawing



